PART - A (GENERAL KNOWLEDGE) T

1. World envitonment day is observed on- e
(£\) June -3 (B) June - 4 (C) June -5 (D) June - 6
2. What is Chihuahua?
() Dog (B) Horse (€) .Calt (D) Monkey
3. Which is the coldest planet in the solat system?
(A) Venus (B) Saturn (C) Mars (D) Neptune
4. Which of the following is India's highest War time gallantry award?
() Param Vit Chakra (B) Arjuna Award (C) Ashok Chakra (D) Padma Bhushan
5. Where is highest post office in the world situated?
(A) Hikkim, Himachal (B) Ooty, Tamil Nadu (C) Dehradun, (D) Datjeeling, West
Pradesh Uttarakhand Bengal
6. 'Koodiyattam'is a-
(4) Traditonal dance ,(B) Traditional dance  (C) Traditional dance of (D) None of these
of Goa of Kerala Andhra Pradesh
7. Kanchipuram is in which of the following State?
(A) Kerala (B) Andhra Pradesh  (C) Tamil Nadu (D) Karnataka
8. river is also known by the name 'Sorrow of Bengal' as it gets flooded often
causing damage.
(A) Damodar (B) Yamuna (C) Ganga (D) Cauvery
9. Buenos Aires is the capital of which country?
(A) Armenia (B) Argentina ’-’:(C) Angola (D) Albania
10. Rufiyaa is the currency of which country?
(A) Maldives (B) Mautitius (C) Monaco (D) Mexico
11. Who is the present Chief Minister of Andhra Pradesh?
(A) Y.S. Rajasckhara  (B) N. Chandrababu (C) K. Rosaiah (D) N. Kiran Kumar
Reddy Naidu Reddy
12. Which State has the smallest land area?
(A) Goa (B) Nagaland (€) Sikkim (D) Tripura
13. Which is the most populated city in the world? |
(A) Hong Kong (B) Tokyo (C) Kolkata (D) New York
14. Sanjeev Rajput is associated with which sports? | |
(A) Boxing (B) Wetestling (C) Sprint (D) Shooting
15. The Electit-m Commission of Indi:la is situatéd(icf’;“ Ll i
(A) Mumbai (B) {Chennat
16. Zero degree centigrade is Eq‘:al 10 (€) 34°F (D) 36° F
(A) 30° F B) 228
17. Who is the author of Panchatantra?

RK. N (B) Vishnu Shatma (C) Arundhati Roy (D) Khushwant Singh
(A) . Narayan




P e ' stody in 1666 bEMng in an empty basket?

18, Wh | from Mughal cv
(A) ::::?ﬁjmpmm ‘(gm Jai Singh - (©) Shivaii (12) Rana Kumbha

19. The inspiration of 'Liberty, Equality and Fraternity' was derivec{ from-
(B) French revolution  (C) Russian revolution (D) None of these

A) Amencan

revolution
. 1
20. Which continent is called as "Dark Continent e e
(A) Asia (B) Europe (©) Australia e

21. Who was the first Field Marshal of India?
(A} A. Vaidva (B) K.M. Canappa (€) Sundarji
22. Which is the official bird of Delhi? _ :
(A) Hill myna (B) lndian roller (€) House sparrow (D) Koel
23. Who won the Hockey India League 20162 W A
(A) Punpb vamors  (B) Kalinga lancers (C) Ranchi rhinos
24. What is the cxpminn of ICU?
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. Two ships are sailing in the sea on

g Fror 3 @ o FelETsae & WIE 6-
\) A9 e (B) 319 (C) " /(l)) q-a;?w
T PART — B (MATHEMATICS)
26. How much time \\_ﬁrlit—_ﬂ:t,_[_ﬂl_‘l_l‘: amount of Z 300 to yield Z 54 as intetest at 3% per

annum of Simple Interest?

(4\) 3 years (B) 4 years (C) 5 years
the two sides of a lighthouse. The angle of elevation of
the top of the lighthouse is obsetved from the ships are 30° and 45° respectively. If the
lighthouse is 200 m high, the distance between the two ships is-

(A\) 446 m (B) 546 m (C) 646 m (D) 746 m

(D) 6 years

. In a provisional store, the profit is 420% of the cost. If the cost increases by 25%, but the

selling price remains constant, approximately what percentage of the selling ptice is the
profit?

(&) 56% B) 66% (C) 76% (D) 86%

Find the amount on % 1000 at the rate of 10% per annum for 18 months when interest is
compounded half-yearly.

() % 1057.63 B) T 1157.63 (C) % 2157.63 D) T 2571.63
The HCF of two numbers is 33 and the othet two factors of their LCM are 12 and 13. The

larger of the twwo numbers 1s-

(A) 129 B) 229 (ER222 D) 429
Evaluate: 1lti

9
A) '1E (B) Ii © 21—2- (D) 23
S 4 3 4

Ashok can lay a railway track between the two given stations in 15 days and Bairav can do
the same job in 10 days. With the help of Chandar, they did the job in 3 days only. Then,
Chandar alone can do the job in:

(A) 3 days (B) 4 days (C) 5 days (D) 6 days

A sum of money is to be distributed among A, B, C and D in the propottion of 4 : 3:2: 1. If
C gets ¥ 500 more than D, what is B’s share?

(A) 500 (B) T 1000 (C) X 1500 (D) X 2000

What will be the time when the hour hand makes an angle of 50° with the minute hand?

(A) 1.10 hours (B) 1.15 hours (C) 1.20 houts (D) 1.25 houts

If loss is 1/2 of the selling price, the loss percentage is:

(A) 25% (B) 30.5% (C) 33.33% (D) 35.75%

Anjali and Banu invest in a business in the ratio of 2 : 3. If 10% of the total profit g0€S to
charity and Anjali's share is ¥ 540, then the total ptofit is- _
(A) % 1000 (B) ¥ 1200 (©) % 1400 (D) Z 1500

One tap can fill a cistern in 2 hours and another can empty the cistern in 3 houss. How
long will they take to fill the cistern if both the taps ate opened?
(A) 6 hours (B) 7 hours (C) 8 hours (D) None of these
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What is the value of 0.02 x 0.0057

A) 0.00¢ |
39' -_x-u thf‘.‘ EidES« Df | [Cgllldl’ pL‘-‘l}‘gl)H are-
A) Parallel BY Eanal in lencth - o - -
. Ll D L_h_..,,_ e ) Not parauci D) Not equal
40. A car covers a certain distance at a speed £ in 6
2 stance at a sp 01300 km/hr in 6 hours. To cover the same
)
distance i = hye : e 1 k )
cein 1 : hours, it must travel at a speed of:
(£&)) 1020 km/hr B) 1040 km/hr C) 1060 km/hr D) 1080 km/hr
41. Fi i r W
ind the average of all the numbers between 1 and 15, which are divisible by 2.
(&) 6 B) 7 C) 8 D)9
42. ':I'he length of an arc which subtends an angle 18° at the center of the circle of radius 6 ecm
is- |
(8) (®/5) cm B) (2z/5) cm (C) (3z/3) am ‘D) None of these
43. The HCF of 2.5, 3.5 and 4.5 is-
(A) 0.0005 (B) 0.005 C) 05 D) 5

44. Today is 1st April. The day of the week is Wednesday. This is a leap year. The day of the
week on this day after 3 years will be:

(A) Saturday (B) Sunday ' (C) Friday (D) Tuesday

45. Solve: §+3:3

(A) 0 ®) 1 i O2 D)3
46. A boat goes 16 km upstream in 2 hours downstream in 1 hour. Find how much time
this boat will take to travel 32 km in all sull water.
(A) 1 hour (B) 1.5 hours : (C) 2 hours (D) 2.5 hours
£

47. The list price of a jeans is ¥ 2200. A discmét of 10% on sales is announced. What is the
amount of discount on it? g
(A) T 150 B) T 175 § (O 2200 D) X220

48. The greatest number of three digits wtuch“'ﬁ divisible by 15, 25, 40 and 75 is-
(A) 500 B) 600 - (@ 700 D) 800

49. The ratio between the perimeter and the Bg’:ﬂdth of a rectangle is 7 : 2. If the area of the
2 Th

i —+h of the rectangle?
rectangle is 432 sq. ¢, what is the IEHgthéf ang

7 (O Bem 19 cm
(A) 16 cm (B) 17 cm 3 ©) D)
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51D Choose the correct antonym of the given yord from the oplions 5

ACQUITTAL B
() Warrant (B) Condemnation {9’111115]“11&“ (ID) Castigation
E o : : e o P R and S. Chogge
:\3_,_ l'l'l th‘ 1‘”“”‘\,“]2- tl“cﬁll”"‘l CL'I.L‘h b 1L p‘:“tb n']drI{Cd 3 Q) 0Ose [h{:
part of sentence with the errot and mark ag your answet.
The Automobile industry is experimenting (P) / with a new type of (Q) / motorcar tha
will (R') / consume less lmirul and cause much less pU”uliﬂn_ (S)

) P B) Q €) R AD) S

53.. Choose the correct adjective from the given options to complete the sentence.

entence hﬂg

I am my brother.

(\) Tall than (B) Taller (C) More taller than D) Taller than

53. In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no errof, mark
'‘No error (S)' as your answet.

The resources are limited (P) / so we cannot afford waste it (Q) / by duplication and
competition. (R) / No error (S),

@A) P AB) Q (C) R (D) S

357 Choose from the four options, the word that best substitutes the given phrase.
Reciprocal exchange of favours, services or praise.
(&) Gife (B) Back-scratching (C) Back-exchange D) Compliment

‘Eﬁ/‘ChnDse the appropriate word to complete the sentence.

If you are late to the meeting, it will be really difficult to the subjects which have
been discussed.
(&) Look for AB) Catch up with (C) Play down (D) Drop in

/5}; - Choose the correct preposition from the given options to complete the sentence.
He decided to enter a new coutrse of life.
/(f-\) Into (B) Upon (C) For D) On

58. Choose the correct verb from the given options to complete the sentence.

éj astrologer made a about the success of her son.
Prophecy (®B) Prophesy (C) Prophesied (D) None of these
}97‘ Choose the misspelt word.
(A) Overestimate (B) Conceivable (€) Euthanasia —(D) Disobediant
@ Choose the correct synonym of the given word from the options given below.
VOLATILE
(A) Hot /B) Bright (©) Fickle ) Undependable

?7 Choose the correct pronoun from the given options to complete the séntence.
These books are very heavy. I can't carry —
AA) Them (B) It (@) Lkey (D) Me
~ In the following question, each sentence has fout portions matked P, Q, R and S.
Rearrange it in the proper sequence in order to make a meaningful sentence.

The broker said that a person (P) / should shop carefully (Q) / who buys a house ( R) /
for the lowest interest rate (S)

(1) SPRQ WQS (C) SPQR (D) PSRQ
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65.

CIIU(}
S¢ - =
h,- the correct synonym of the giyven
[AMI\’IOTH = Word from the options given below.

2 Wil .
3 $ (B) Greedy . \
¥ (C) Straight &l)) [Huge
12 question, eacl . :
: S y €ach sentence :
RE‘&I‘I'EIHUE it in tl : : haﬂ four [}I_Jr[iuns marked P, Q, R and S.
S 1¢ proper sequence in ord .
To control 'lllltllly students (P) i £t to make a m-::unlngful sentence.
- - - > 11 P . " i
Prlumpal (R_) / took : AOE Lull'i‘g{: administration (Q) / our new
\ 0ok a number of strong mg
dsures (5)

(A) RPQS e

Us ‘ '
¢ the appropriate article for the sentence q:
e given below.
S oved nature and hated the city.

;"\. f‘i ' A
(&) (B) An ) The (D) No article

66 hoo : -
S - B f =
(/C e the alternative which best EXPresses the meaning of the idiom/phrasc given below.

[ Cl_ C:"lhi:‘.‘i : l Ik I - 1 ! ;; !

(C) Diein a burnmg house choked with smoke (D) Risk everything in a Singlﬁ ventute

QV Rewrite the sentence in direct speech:

The fatlliet warned his son that he should he heware of him.
(A) The father warned his son, "Bewate of himl! (B) The father warned his son, "\Watch that

: chap!"
r@ T_hﬁ father warned his son, "Be careful about (D) The father watned his son, "Don't fall into

1]
him. _ the trap."

@/Chonﬁ the correct form of the tense to complete the following sentence.

These computers in Taiwan.
(A) Isn't made X(B) Weren't made /f(aj Didn't make (D) Wasn't make

/69./ Choose the correct adverb from the given options to complete the sentence.

7

/ would like which of the following

we can go out tomortow.

I am very busy today.
(B) Suddenly - (C) Pethaps (D) Obviously

A) Fortunately
Choose the correct antonym of the given word from the options given below.

MASK

(A) Hit )ﬁ) Expose . (C) Injure /@Defacc

Directions (Q. 71 - 75):\Read the following passage carefully and answer the questions
given below. |

The living room does not look good. It looks bad without a carpet. Preethi and Babu want
to buy a carpet. They want to buy a carpet for their living room. They went to the store.
They look at the carpets. There are many colots. There are many sizes. Some have

patterns. Some are plain. Preethi likes 2 pink and purple carpet. It has dots. It has pink and
does not like the colots. He does not like the pattern. He

purple dots. Babu says no! He : : ‘
does not like the size. The pink and purple carpet is too Plg. Babu likes a green a'nd red
carpet. It has stripes. It has green and red stripes.'l"teethl says no ! She does not like th'e:
colots. She does not like the pattern. She does not like the size. The green and red car]‘:’iet is
Preethi and Babu see a tan carpet. It does not have dots. It does not have stripes.
and plain. Babu likes the tan carpet. Preethi likes the tan catpet. They

They both like the size. They both say yes!
They put the carpet in the living room. The living

too small.
It is plain. It Is tan
both like the color.

Preethi and Babu buy the tan carpet. .1
I arpet.
R oo wonderful with the SEEiE be understood that both Preethi and Babu

1. Based on information in the passage, It caft ]
ino carpets best: ‘
(B) A pink and yellow carpet with dots

(D) A black and white catpet with both dots and

jf % 1 | HE':S
m J."i grE Cﬂrpﬂt V].th. ﬂD thS Dt Stﬂ
Stripﬂs

(C) A blue and green carpet with stipes

Pagel 1



carpet in their-

(.DJ Bathroom

= . Precthi and B S - the new
}zf.’ According to the passage Preeth ¢ abu want to put

¥ (/\) Bed room B) Dining t00Mm ((ij,iving rOOIMm

13/' According to the passage, the pink and Purple carpet-
(fyqﬂs dots (B) Has stripes (C) Is too small

7,‘5' According to the passage, both

(B) Green and ted (D Tan carpet

(D) Is too plain

Preethi and Babu like the-

(A) Pink and putple (D) Blue catpet

_carpet carpet
- According to the passage, the green and ted carpet-
(A) Is plain (B) Has dots (C) Is too big /ML‘OD small
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